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01 It AL E X 300,000 9,500 290,500
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405 XHAHF S HI 10,000 0 10,000
& 3,000
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01 XAt 2 ZF S| 10,000 0 10,000
OMHEMNESLMALE P (AAUHI S)
10,000,000& = 1A 10,000
& 3,000
Al 7,000
MEYEME A 271,774 101,153 170,621
101 124 H| 28,800 73,200 N44,400
04 JIZtHIZ2ZXNEE 28,800 73,200 N44,400
OAUSR MEsY 223 23%AH o8
120,0008 * 6 * 25 18,000
OALIR THEsY 223 8 I o
90,000& * 6Y¥H » 20< 10,800
201 et d| 21,374 19,953 1,421
01 AP 2t 2| H| 18,300 16,800 1,500
OALISR THEsY ot 82 &
60,000& = 10074 6,000
OAUR MEsY 2SH £ WEEs U A
900,000& = 1CH ~ 12& 10,800
O2UR 0ls & =4 29 HIBE Y
30,000& *= 5& = 100 1,500
02 E232%H| 3,074 3,153 AT9
OAUSR MEEY a3 Alsds =il
6,000& = 303 180
Oateldall= &Ml ZH HA2HI(3ER)
1,490& * 100¢4 =~ 604 894
OA2UR 0ls @ =4 M2
200,000& * 1A = 5OHE 1,000
OMteEal=E JIAHEH SA22
100,000& * 10CH 1,000
206 M = Hl 16,800 8,000 8,800
01 X2 4| 16,800 8,000 8,800
OAULSR ME=Y UM AH(EZSA=SH)
9,000& * 300 2,700
OAUR MeEsY SHHE X
7,000& * 300H 2,100
OAUSR MEsY WL FAF 2
140,000& * 50= 7,000
OMteldals 2HHE Mg 7Y 5,000
—AHFLO, JHEY, EEBIY
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03 AlE 2 THHI 1,440 0 1,440
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01 et EZFH S 4,800 0 4,800
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= 2,000
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= 84,000
< 10,800
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01 B2t AP E X 120,000 52,500 67,500
OS2 F2ULS X2
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< 25,135
Al 58,647
401 AIEHI L 2CHEI 83,782 83,800 A18
< 25,135
Al 58,647
01 A& HI 83,028 82,962 66
OEs42el 83,782,0008 = 14 » 99.10/100 83,028
= 24,909
Al 58,119
03 A& S THHI 754 838 N84
OEs=sat A2 754,000& = 14 754
< 226
Al 528
AE 2 A 706,791 644,010 62,781
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ez

Y =Xt
YT BE(SYHSLL/YY - HE)
=Y A

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 39,040
Xl 81,441
< 22,965
Al 563,345
AT AAE(Z) 406,805 98,893 307,912
Xl 81,441
< 6,981
Al 318,383
101 @124 dl 29,994 31,393 A1,399
Xl 20,996
< 1,800
Al 7,198
04 JIZHHZ2XRHEES 29,994 31,393 A 1,399
O el oAl 52,0008 * 4H * 120 24,960
Xl 17,472
< 1,498
Al 5,990
Ogzzeld M= 4,234,000& * 1 4,234
Xl 2,964
< 254
Al 1,016
Og&zeld Il=Hl 200,000 * 44 800
Xl 560
< 48
Al 192
308 XtXIEHH SOl A 290,460 0 290,460
07 IXSHHM2AURE = 290,460 0 290,460
OLEAY XXIEH2 22
290,460,000& = 290,460
401 AIEHI L 20 86,351 67,500 18,851
Xl 60,445
< 5,181
Al 20,725
01 A& HI 85,574 66,825 18,749
ogE 2+ 86,351,000& = 141 * 99.1/100 85,574
X 59,902
< 5,134
Al 20,538
03 Al R THHI 7 675 102
ogdz B+ 777,000 * 1 7
Xl 543
< 47
Al 187
SAERe(E) 6,240 6,240 0
< 1,872
Al 4,368
101 1A Hl 6,240 6,240 0




AN AHE =X
HH: MUNE B (SUNSSA/AY - ME)
ool S U ALY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,872
Al 4,368
4 D12t Z2 RS2+ 6,240 6,240 0
Og&zel SLHREA 22|
52,0003 = 29 » 50 5,200
< 1,560
Al 3,640
Ogeze ZLHRE 4HEER
640,000& * 14l 640
< 192
Al 448
Ogszel 2LHRE ISl
200,000& » 29H 400
< 120
Al 280
AT AL 52,500 241,185 A 188,685
401 A& HIZ 201 I 22,500 22,500 0
01 A& HI 22,257 22,275 A18
OYLZAIE TaHKl E=At
90,000& * 250m * 1JH2 * 98.92/100 22,257
03 A& S THHI 243 225 18
OYLZAIE TaHKl E=At
90,000& * 250m * 1JH2 = 1.08/100 243
402 RI2EX=20l A 30,000 30,000 0
02 RI2HCH & AFH HI 30,000 30,000 0
OYEHEX A= 2tel AL
300,000& = 50km * 23| 30,000
A AL (2) 55,772 55,772 0
= 39,040
< 11,712
Al 5,020
101 14 Hl 46,418 46,338 80
= 32,492
< 9,748
Al 4,178
04 JIZHHZ2XEES 46,418 46,338 80
OLHALEY S Z 0l e o124t
57,000& = 498 = 175¢ 39,900
= 27,930
< 8,379
Al 3,591
OLIAIEY B EUYE 40282
5,718,000& = 14 5,718
= 4,002
= 1,201
Al 515
OLHALEY S F 02 E I =4l 200,000& = 49 800
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AN AHE =X
HH: MUNE B (SUNSSA/AY - ME)
ool S U ALY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 8,000 8,000 0
Oded MHolRHAS MAAMY
2,000,000& * 400 2 8,000
< 2,400
Al 5,600
FEhALS 56,400 233,920 A177,520
201 ¢er24| 6,400 1,400 5,000
01 AL 22l H| 6,400 1,400 5,000
OMAEN HANTXE ARE & 4
70,000& = 10¥ =« 23| 1,400
OA/FALEY H YRS OHLH E X B
100,000& * 504 5,000
401 AIEHIZL 2 0] 50,000 50,000 0
01 A& Hl 49,460 50,000 A 540
OAFALER TIoHXI S AL
50,000,000 * 1ha * 98.92/100 49,460
03 Al 2 THHI 540 0 540
OAFALER TIoH Xl =P AL
50,000,000& = tha * 1.08/100 540
=X UESD *H (=L a/gdy - AE) 1,416,414 1,711,561 AN 295,147
Xl 150,000
= 51,000
Al 1,215,414
EPNEE! 1,228,909 1,641,740 A 412,831
Xl 150,000
= 45,000
Al 1,033,909
T &e 893,790 1,022,197 A 128,407
101 @124l 35,530 67,856 A 32,326
04 D12t 22 HEE = 35,530 67,856 N 32,326
Otz & X2EX el UFY
48,2402 * 49 » 258 * 43 19,296
02" 2 HFA B2 oy
48,2402 * 298 » 208 * 53] 9,648
Oz & 2EX el A 2F OIS 1,170
— ot 15,0008 * 64 90
— Ot )| 30,000& = 69H 180
ot = 100,000& * 6% 600
— OtM 5t 50,000& » 69H 300
Oz & AR AL S ARAA 5,416
— ZHAH| 1,600& = 24] » 6H » 230 4,416
— RA&X=2Hl 100,000& * 103l 1,000
201 L2l 16,090 16,461 A 371




2l =X
X UES SAH/YY - AE)
NEL ER-ED
A== S9(3H) - NEAY - BaS ﬁlf& HD=2
01 At 22l bl 5,300 5,300 0
OBE=LE =M
100,000& = 3= 300
OLQE U Iz, ZAFX 22 Y=
500,000& = 103l 5,000
02 3524t 10,790 11,161 N 371
OZXdX 8 A& 22| 7,200
— M2 200,000& = 128 2,400
— Aol ER2 300,000 = 12&€ 3,600
—SI&A S 2SS ANEES KA
100,000 = 12& 1,200
O=sXNZx=Z&EH X 1,800
—SEWFOI 50,000& * 40§ * 23] 400
— S8 NFI 50,000& = 400 * 23] 400
—JlHS 50,000& * 200 * 23] 200
— S8 =2 200,000& * 1CH = 23] 400
— 22| 2| 200,000& = 1CH = 23] 400
OXEX 2 HEIH 78 7 1,790
—3eR 1,490 = 1,000¢ 1,490
— XA 3,000 = 504 150
-8R 3,000& = 504 150
206 & 40,170 142,880 A 102,710
01 M= 40,170 142,880 A 102,710
= 10,000
- 20,000& * 500 10,000
OAIDJEX
350& * 10,0002 * 23 7,000
Oz 2tel 4,160
— &= 20,000& * 204 400
— &ZN 13,0008 * 20kg 260
— JIAHSH 25,000& * 1004 2,500
- NYER 10,000& = 10& = 10& 1,000
Ox=& X 22l 19,010
— &S H 20,000& * 204 400
— &2 A 13,000 * 20kg 260
— S XA 20,000& * 2004 4,000
—BEo UHAH(OIANEZE)
3,500& = 5004 1,750
— =2 gAH (MU ) 16,0008 * 1004 1,600
—HzZz32 2,000
SAEHZ 5,000& * 200%FE 1,000
S&Hl 2 20,000& * 50% 1,000
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- _ _ RE]
M- o9 (B H) - MEAY - B2 gﬁ‘&i HR=2
—=NZSNEE A2 Y
10,000 = 10& ~ 10& 1,000
—Xd8XN g8 MM P2 8,000
g =9t 3,500& * 2,000m 7,000
== 1,000& = 1,0004 1,000
301 et A= 2,000 2,000 0
11 J|EtE A2 2,000 2,000 0
Oolztol AtGH Xl 2 bl 100,000& * 10™ 1,000
Ogelztol T E A= 250,000 * 424 1,000
401 AlEHIZL £ 0HY| 800,000 790,000 10,000
01 Al&H| 793,700 784,400 9,300
OXAEX AIZE2Zel A g
500,000,000& = 141 % 99.28/100 496,400
OABH ¥ BN ZFBA
50,000,000& = 2JHA = 99.1/100 99,100
OYFY 2B ZYTBA
100,000,000 = 1JH A * 99.1/100 99,100
OJtz24 HEZSA
100,000,000 = 14 % 99.1/100 99,100
03 AlE 21| 6,300 5,600 700
OXAEX AIZ2tel At
500,000,000& = 1&1 « 0.72/100 3,600
O2x23& Y A ZESA
50,000,000& * 2IHA = 0.9/100 900
OYFY LB XYM
100,000,000€ ~ 1JA = 0.9/100 900
OJz24 HEZA
100,000,000 = 14! %= 0.9/100 900
S 2 35,119 19,543 15,576
101 Q124 H] 7,719 7,143 576
04 JI2ZtHIZ22NEES 7,719 7,143 576
OES+ 2 LH2 2ol ol
48 2402 » 8¥ * 20¢ 7,719
206 M = dl 2,400 2,400 0
01 XHZ HI 2,400 2,400 0
OBs4 2 L HS AlHlE H2
15,0008 * 100% 1,500
OES4 dls2HE 2H
15,000& = 208 * 3= 900
401 A& HI L 204 HI 25,000 10,000 15,000
01 Al&H| 25,000 10,000 15,000
OBS4 & T HE SR&e AFg
1,000,000& * 1000 2~ 10,000




= - 4 14
M- o9 (B H) - MEAY - B2 %Ei HR=2
OLH% =8 MIESHA WA
10,000,000& = 14 10,000
OBs4 SMEXE &
1,000,000 * 50 5,000
ZESA=ZMDIITH(Z2) 300,000 500,000 A 200,000
Xl 150,000
= 45,000
Al 105,000
401 Al HIZL 2 0HY| 300,000 500,000 A 200,000
Xl 150,000
= 45,000
Al 105,000
01 Al&H| 296,760 495,000 A 198,240
ONtElHqHIA Sdt2 =4
25,000,000& = 401 A * 98.92/100 98,920
Xl 49,460
o=t 14,838
Al 34,622
OXNXM TA= L2 %)
200,000,000 = 14! % 98.92/100 197,840
Xl 98,920
= 29,676
Al 69,244
03 AlE 201 Y| 3,240 5,000 AN 1,760
ONtElqHIA St =4
25,000,000& = 4JHA = 1.08/100 1,080
Xl 540
& 162
Al 378
OXNXM TA= 2L (II=2 %)
200,000,000& = 141 « 1.08/100 2,160
N 1,080
& 324
Al 756
ST H L 22| 111,000 69,400 41,600
22 X4 111,000 69,400 41,600
201 gBt2Ad| 11,000 9,400 1,600
02 24| 11,000 9,400 1,600
ONelolZ2a AIE2 |1 22
800,0008 * 1004 & 8,000
OO0l 0l=3 =0lA4d HHaMAEH It
3,000,000& = 1A 3,000
401 A& HI L 204 HI 100,000 60,000 40,000
01 Al&H| 99,100 59,400 39,700
ONelolZ2& HHIZ2AH
100,000,000& = 14 % 99.1/100 99,100
03 Al 201 Y| 900 600 300
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X ZH -
L= B

el

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ONE0IZ&d EHISAM
100,000,000& = 141 % 0.9/100 900
NETEJUEN 76,505 421 76,084
< 6,000
Al 70,505
SHtZ2 22| 6,505 0 6,505
201 Let24d] 3,000 0 3,000
02 8323l 3,000 0 3,000
OEEA EHXE0D HIIRS
50,000& = 5CH » 12& 3,000
206 M= Hl 1,955 0 1,955
01 =8l 1,955 0 1,955
Osdtz FXNES Mg +¢ 1,640
—fF= 100,000& * 104 1,000
— YF==SEH 60,000&  10& 600
— A LA 20,000& *» 28 40
Osdtz EMllg ¢ 315
—HoE 50,000& = 38 * 23l 300
-z 5,000& = 3K 15
405 THebH S| 1,550 0 1,550
01 XA =S H SHI 1,550 0 1,550
Oft=2xl(2g)7¢ 500,000& =« 2CH 1,000
OsS At 7 550,000& * 1CH 550
MRS 50,000 0 50,000
401 Al HI L2 THYI 50,000 0 50,000
01 A& HI 50,000 0 50,000
O&ExROSxd A
50,000,000& * 14l 50,000
NEEst =224 (&) 20,000 0 20,000
< 6,000
Al 14,000
401 Al B2 28I 20,000 0 20,000
< 6,000
Al 14,000
01 A& HI 20,000 0 20,000
OFX2 tExegsd =4
0,000,000& * 1JH 2 20,000
< 6,000
Al 14,000
HY2AZ Y (A=) (IIEH/IIEL) 109,212 116,956 NT,744
=&l 109,212 116,956 AT, 744
JI23l 109,212 116,956 NT,744
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SN 4YSTD
HA: HH2ILH (&= (IIEH/IIE)
e Jl=3l (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
201 fEt2E | 24,432 25,816 A1,384
01 At 2t 2l bl 24,432 25,816 N 1,384
OSAEXN F¢ 15,000& = 218fA « 128 3,780
OEZ20HAHI 6,000 * 641 » 21E = 12& 9,072
Odeteg 100,000& * 128 1,200
OArE =AY 50,000& ~ 12& 600
Oax72 =4t 8,520
— S A =2 500,000& * 1.5CH 750
—ZgH el 100,000 * 5CH * 50/100 250
— =AM EH 200,000& = 53 = 1.504 1,500
—D2H U (8%)
200,000 * 53| * 5CH 5,000
—PC =¢cl 100,000& * 2100 = 20/100 420
— JIEb =2l 50,000& ~ 12& 600
OJIEt AtR 22l 5,000& * 21 = 128 1,260
202 04 4 79,380 84,640 25,260
01 S LHOYI 79,380 84,640 25,260
odtg=X1n 2= ol 79,380
—2HLH0dHl 20,0008 » 218 » 122 » 123 60,480
— 2ty 90,000% = 21H = 10 18,900
203 Y2 X T b 4,200 4,200 0
04 FAN2EE =AY 4,200 4,200 0
OFN2gE2FAH 350,000& * 123 4,200
204 MM FH| 1,200 1,200 0
NEEEEEES BT 1,200 1,200 0
ORMIYDLsAY (LB =T BE)
100,000 18 « 123 1,200
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